N of reco track vs dxy N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

9] F 1%} 123 F 0
x F x o < x
8 5[ 8 I 2 S
= 10 -' = 1045_ s 10 £
i 2 s g
10*F r s
Eo: : 10°F 10° 3
10°F-i Z i
b : : 10%F 10?
1027 - - : 3
E o e : F
I T 10F 10
10F--:- Tretitret
I .ii{ '
o +v 4 MOTT T E “DQM_old132
T DQM 1T man DQM _new132
24 T T 0 T
i ] - |||l 1 1N S R
095 =50-15-10 -5 0 5 10 15 20 25 095 =50-15-10 -5 0 5 10 15 20 25 0995= 20 15 10 -5 0 5 10 15 20 25 05 =50-15-10 =5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
1%} 2] 0
] s S
g . g g
E o 10 > o
E ] ] Q
3 E 3 g
F =
10° 3
10°F
10F
1l— ] ; : i
o ° o v 1 .
@ 24 @ . 3
| | ||E | |i| || | ||E 1_-----:- ||||i| ||| || ||| -----
°%3p 20 -10 0 10 20 30 °%36- 20 -10 0 10 20 30 93020 -10 0 10 30 °¥/ 20 -10 2030

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


